Ch 7 Reaction Practice Problems:

Write equations for and balance the following chemical reactions.

1.

Aqueous nickel (Il) chloride reacts with aqueous sodium hydroxide to produce nickel(ll)
hydroxide precipitate and aqueous sodium chloride.

NiCly (ag) + 2NaOHlagy—> Als (0H) () + 2 NoCl(ag)

Solid potassium metal reacts with water to give aqueous potassium hydroxide and
hydrogen gas.

2 K(@ +2H,000) —>2 KOH(WL\ + Hz(@}

Aqueous sodium hydroxide reacts with aqueous phosphoric acid fo give liquid water and
aqueous sodium phosphate. T Dont expect You Yo Enpes this !

3 NQOH (0‘7\ + HSPOH (423 ’%3\”[20(/@»" NO'SPOH(QZ\

Aqueous hydrogen fluoride reacts with aqueous potassium hydroxide to give water and
aqueous potassium fluoride.

HE )+ KoHGagd —> 10l KF ()



Complete and balance the following reactions, determining if a precipitate is formed. If both
potential products are soluble, write no reaction.
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3. 2 KCl(ag)+ Pb(NOa):(aq)>_ Pl (s) * 2 KNOR(“?)
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4. 2 AgNOs(ag)+  MgBra(aq)-> ZAOE)r(@ ¥ %(NO.‘DL (aq)
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5. NaOH(ag)+ HCl(aq)~> /\Iaufa@\ + W, O(Q)
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6. NaCl{ag) + Sn(NOs)(aq) > No Rxn

7. Ca(OMhfag)+ Na:xCOslaq)>  CalOz(s) “’ZNQOH(a?\

s

8.  3NaxS(aq) + 2_FeCls(aq) > ??_.235[‘.)) o (o NaCl Cﬂc}?/\




